

NAME

: M. Lubair Sa'ad

Rollno

: 29012

Class

:

EET (2nd) Evening

Assignment

:

Math

Date: _____

Q#1 Exercise 9.2
Separable Eq

$$\frac{dy}{dx} = \frac{x^2}{y(1+x^2)}$$

$$y \, dy = \frac{x^2}{1+x^2}$$

$$\int y \, dy = \int \frac{x^2}{1+x^2}$$

$$\frac{y^2}{2} = \frac{1}{3} \ln(1+x^2) + C$$

$$3y^2/2 = \frac{1}{3} \ln(1+x^2) + 3C$$

$$3y^2 = 2 \ln(1+x^2) + 6C$$

$$3y^2 = 2 \ln(1+x^2) + C$$

Q#2 $\frac{dy}{dx} = 2x^2 + y = x^2y + xy - 2x - 2$

$$= 2x^2x - 2xy - x^2y + xy$$
$$= 2(x^2 - x - 1)y(2 - y)$$

$$\frac{dy}{dx} = (x^2 - x - 1)(2 - y)$$

$$\int \frac{dy}{2-y} = \int (x^2 - x - 1) dx$$

$$-\ln|2-y| = \frac{x^3}{3} - \frac{x^2}{2} - x + C$$

$$-\ln(2-y) = \frac{x^3}{3} - \frac{x^2}{2} - x + C$$

$$-\ln(2-y) = \frac{2x^3}{3} - 3x^2 - 6x + 6C$$

Date: _____

(2)

$$-6 \ln(2-y) = 2x^3 - 3x^2 - 6x + 6c$$

$$\ln(2-y)^6 = (2x^3 - 3x^2 - 6x + 6c) \ln$$

$$\ln(2-y)^{-6} = \ln e^{2x^3 - 3x^2 - 6x + 6c}$$

$$(2-y)^{-6} = e^{2x^3 - 3x^2 - 6x}$$

$$2-y = e^{\frac{2x^3 - 3x^2 - 6x}{-6}}$$

$$(2-y)^{-6} = e^{-\frac{2x^3 - 3x^2 - 6x}{6}}$$

Q#3.

$$\frac{dy}{dx} + y^2 \sin x = 0$$

$$\frac{dy}{dx} = -y^2 \cdot \sin x$$

$$\int \frac{dy}{y^2} = \int -\sin x dx$$

$$-1/y = -(-\cos x) + C$$

$$-1/y = \cos x + C$$

Q#4

$$\frac{dy}{dx} = -1 + x + y^2 + xy^2$$

$$\frac{dy}{dx} = (1+x)y^2 (1+y)$$

$$\frac{dy}{dx} = (1+x)(1+y^2)$$

$$\int \frac{dy}{y^2} = \int (1+x) dx$$

$$\tan^{-1} y = x + \frac{x^2}{2} + C$$

$$2 \tan^{-1} y = 2x + x^2 + C$$

Q#5

$$(xy + 2x + y + 2) dx + (x^2 + 2x) dy = 0$$

$$[x(y+2) + (y+2)] dx + x(x+2) dy = 0$$

$$[(y+2)(x+1)] dx + x(x+2) dy = 0$$

$$[(y+2)(x+1)] dx + x(x+2) dy = 0$$

Date: _____

(3)

$$\div \text{ by } x(x+2)(y+2)$$

$$\frac{x+1}{x(x+2)} dx + \frac{1}{y+2} dy = 0$$

$$\int \frac{x+1}{x^2+2x} dx + \int \frac{dy}{y+2} = 0$$
$$\frac{1}{2} \int \frac{2x+2}{x^2+2x} dx + \int \frac{dy}{y+2} = 0$$

$$\ln(y+2) = -\frac{1}{2} \ln(x^2+2x) + \ln x$$
$$y+2 = \frac{e^{-\frac{1}{2}}}{\sqrt{x^2+2x}}$$

Q#6

$$\cos y dx + \sec x dy = 0$$

$$\div \text{ by } \cos y \sec x$$

$$\frac{1}{\sec x} dx + \frac{dy}{\cos y} = 0$$

$$\int \cos x dx + \int \sin y dy = \int 0 dx$$
$$\sin x - \cos y = c$$

Q#7

$$y(1+x) dx + x(1+y) dy = 0$$

$$\div \text{ by } xy$$

$$\frac{(1+x)}{x} dx + \frac{(1+y)}{y} dy = 0$$

$$\int \left(\frac{1}{x} + 1\right) dx + \int \left(\frac{1}{y} + 1\right) dy = \int 0 dx$$

$$\ln x + x + \ln y + y = c$$

$$x + y + \ln(xy) = c$$

Date: _____

Q#8 (iii)

$$(e^{x+1})y' + y = (y+1)e^x \quad \text{or}$$

$$\int \frac{y}{y+1} dy = \int \frac{e^x}{e^{x+1}} dx$$

$$\int \frac{(y+1)-1}{y+1} dy = \int \frac{e^x}{e^{x+1}}$$

$$\int = \ln(y+1) = \ln(e^{x+1}) + \ln e$$

$$y = \ln(y+1) + \ln(e^{x+1}) + \ln e$$

$$y = \ln(y+1) + \ln(e^{x+1}) + \ln e$$

$$e^y = e^{\ln(y+1)} (e^{x+1}) e$$

Exercise 9.3

Homogies P.D.E. in (H.O.E)

Q#1

$$(x-y) dx + (x+y) dy = 0$$

$$(x+y) dy = -(x-y) dx$$

$$\frac{dy}{dx} = \frac{y-x}{x+y} \quad \text{H.P.E.} \quad \text{--- (i)}$$

$$\text{Put } y = vx \quad \text{--- (ii)}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (iii)}$$

$$v + x \frac{dv}{dx} = \frac{vx-x}{x+vx}$$

$$x \frac{dv}{dx} = \frac{vx-x}{x+vx} - v$$

$$x \frac{dv}{dx} = \frac{vx-x-vx-v^2}{x+vx}$$

Date: _____

$$\int \frac{u+1}{u^2+1} du = -\int \frac{dx}{x} \quad (1)$$

$$\frac{1}{2} \int \frac{2u du}{u^2+1} + \int \frac{du}{u^2+1} = -\int \frac{dx}{x}$$

$$\frac{1}{2} \ln(u^2+1) + \tan^{-1} u = -\ln x + c$$

$$\ln \sqrt{y^2} + 1 + \tan^{-1}(y/x) + \ln x = c$$

$$\ln \sqrt{y^2+x^2} + \tan^{-1}(y/x) = \ln x + c$$

Q#2

$$(y^2 + 2xy) dx + x^2 dy = 0$$

$$x^2 dy = -(y^2 + 2xy) dx$$

$$\frac{dy}{dx} = -\frac{(y^2 + 2xy)}{x^2} \quad \text{H.D.F (i)}$$

Put $y = vx$ (ii)

$$\frac{dy}{dx} = v + \frac{dv}{dx} \quad \text{(iii)}$$

using (i) (ii) (iii)

$$v + x \frac{dv}{dx} = -\frac{(v^2 x^2 + 2xvx)}{x^2}$$

$$x \frac{dv}{dx} = -x^2 \frac{(v^2 + 2v)}{x^2} - v$$

$$x \frac{dv}{dx} = -(v^2 + 3v)$$

$$\int \frac{1}{v(v+3)} dx = -\int \frac{dv}{v^2+3v} = -\int \frac{dv}{v}$$

$$\frac{1}{3} \int \frac{3}{v(v+3)} dx = -\int \frac{dv}{v}$$

Date: _____

(6)

$$\frac{1}{3} \int \frac{3}{(u+3)} du = - \int \frac{du}{u}$$

$$\frac{1}{3} \int \frac{3}{u+3} du = - \int \frac{du}{u}$$

$$\frac{1}{3} \int \left(\frac{1}{u} - \frac{1}{u+3} \right) du = - \int \frac{du}{u}$$

$$\frac{1}{3} \ln \left[\frac{u^{1/3}}{(u+3)^{1/3}} \right] = - \ln |u| + c$$

$$\frac{u^{1/3}}{(u+3)^{1/3}} = \frac{x}{u}$$

$$u \cdot u \cdot \frac{1}{3} = (u+3)^{1/3}$$

$$u \cdot \frac{1}{3} = (u+3)^{1/3}$$

$$u \cdot \frac{1}{3} = (y+3x)^{1/3}$$

$$u^3 = (y+3x)$$

$$u^3 = (y+3x) \quad \text{Ans}$$

Q#3 $(x^2 - 3y^2) dx + 2xy dy = 0$

$$2xy dy = -(x^2 - 3y^2) dx$$

$$\frac{dy}{dx} = \frac{3y^2 - x^2}{2xy} \quad \text{H.O.F} \quad \text{--- (i)}$$

put $y = vx$ --- (ii)

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$v + x \frac{dv}{dx} = \frac{3v^2 x^2 - x^2}{2vx^2} = v$$

$$x \frac{dv}{dx} = \frac{3v^2 - 1 - 2v^2}{2v}$$

Date: _____

(7)

$$x \frac{dv}{dx} = \frac{3v^2 - 1 - 2v^2}{2v}$$

$$x \frac{dv}{dx} = \frac{v^2 - 1}{2v}$$

$$\int \frac{2v}{v^2 - 1} dx = \int \frac{dx}{x}$$

$$\ln(v^2 - 1) = \ln x + \ln c$$

$$\ln(v^2 - 1) = \ln cx$$

$$\ln(\frac{x^2 - 1}{x^2} - 1) = \ln cx$$

$$\frac{y^2 - x^2}{x^2} = cx$$

$$y^2 - x^2 = (cx)x^2$$

Q#4 $(x^2 + 3y^2) dx - 2xy dy = 0$

$$(x^2 + 3y^2) dx = 2xy dy$$

$$\frac{x^2 + 3y^2}{2xy} = \frac{dy}{dx} \quad \text{--- (i)}$$

put $y = vx$ --- (ii)

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (iii)}$$

$$v + x \frac{dv}{dx} = \frac{x^2 + 3v^2 x^2}{2x^2 v}$$

$$x \frac{dv}{dx} = \frac{1 + 3v^2}{2v} - v$$

$$x \frac{dv}{dx} = \frac{1 + 3v^2 - 2v^2}{2v}$$

$$x \frac{dv}{dx} = \frac{1 + v^2}{2v}$$

$$\int \frac{2v}{1 + v^2} = \int \frac{dx}{x}$$

$$\ln(1 + v^2) = \ln x + \ln c$$

$$\ln(1 + v^2) = \ln x + \ln c$$

Date: _____

$$\ln(x^2 + y^2) = \ln(x^2) \quad (8)$$

$$\frac{x^2 + y^2}{x^2} = \ln(x^2)$$

$$x^2 + y^2 = (\ln(x^2))x^2$$

Q#5 $(x^2 - xy + y^2) dx - x^2 dy = 0$

$$(x^2 - xy + y^2) dx = x^2 dy$$

$$\frac{dy}{dx} = \frac{x^2 - xy + y^2}{x^2} = \text{H.D.E.} \quad \text{--- (i)}$$

put $y = vx$ (ii)

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (iii)}$$

$$v + x \frac{dv}{dx} = \frac{x^2 + x(-vx) + v^2x^2}{x^2}$$

$$x \frac{dv}{dx} = \frac{(1 - v + v^2)x^2}{x^2}$$

$$\int \frac{dv}{1 + v^2} = \int \frac{dx}{x}$$

$$\tan^{-1} v = \ln x + C$$

$$\tan^{-1} (v/x) = \ln x + C$$

Q#6 $x \sin(y/x) dy = (y \sin y/x - x) dx$

$$\frac{dy}{dx} = \frac{y \sin y/x - x}{x \sin(y/x)} = \text{H.D.E.} \quad \text{--- (i)}$$

$$x \sin(y/x)$$

put $y = vx$ (ii)

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$v + x \frac{dv}{dx} = \frac{vx \sin vx/x - x}{x \sin(vx/x)}$$

$$x \frac{dv}{dx} = \frac{x(\sin v - 1)}{x \sin v}$$

Date: _____

(9)

$$x \frac{dv}{dx} = \frac{\sin v}{\sin u} = \frac{\sin v}{\sin u}$$

$$\int \sin u \, du = \int \frac{dx}{x}$$

$$-\cos u = \ln|x| + c$$

$$\cos u = \ln|x| - c$$

$$\cos y/x = \ln|x| - c$$

Q#7 $\frac{dy}{dx} = \frac{x+y}{x} = \textcircled{i} \quad y(1) = 1$

put $y = vx$ — \textcircled{ii}

$$\frac{dy}{dx} = v + x \frac{dv}{dx} = \textcircled{iii}$$

$$x + x \frac{dv}{dx} = \frac{x+vx}{x}$$

$$x \frac{dv}{dx} = \frac{x(1+v)}{x} - x$$

$$x \frac{dv}{dx} = 1$$

$$\int dv = \int \frac{dx}{x}$$

$$v = \ln|x| + c$$

$$y/x = \ln|x| + c$$

$$y(1) = 1$$

$$\frac{1}{1} = \ln 1 + c$$

So $y/x = \ln|x| + 1$

$$y = x \ln|x| + x$$

$$= x (\ln|x| + 1) \text{ Ans}$$

$$1 = 0 + c$$

Date: _____

(10)

Exercise #9.4

is said to be exact diff eq if it is total diff fcn

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

2 No 1

Solve $(3x^2 + 4xy) dx + (2x^2 + 2y) dy = 0$
 $M = 3x^2 + 4xy$, $N = 2x^2 + 2y =$

$$\frac{\partial M}{\partial y} = 0 + 4x \quad \frac{\partial N}{\partial x} = 4x + 0$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x} \quad \text{So given Diff is Exact.}$$

Now

$$\int M dx + \int (\text{tan } \partial N \text{ for form } x) dy = c$$

$$\int (3x^2 + 4xy) dx + \int 2y dy = c$$

$$\frac{3x^3}{3} + \frac{4x^2y}{2} + \frac{2y}{2} = c$$

$$x^3 + 2x^2y + y = c$$

2#2 $(2xy + y - \tan y) dx + (x^2 - x \tan^2 y + \sec^2 y) dy = 0$

$$M = 2xy + y - \tan y, \quad N = x^2 - x \tan^2 y + \sec^2 y$$

$$\frac{\partial M}{\partial y} = 2x + 1 - \sec^2 y \quad \frac{\partial N}{\partial x} = 2x - \tan^2 y + 0$$

$$\frac{\partial M}{\partial y} \neq \frac{\partial N}{\partial x} \quad \text{So given different Exact.}$$

Date: _____

$$\int M dx + (\text{Rem of } P/Q) dy = c$$
$$\int (2xy + y - \tan y) dx + \int \sec^2 y dy = c$$
$$\frac{2x^2 y}{2} + xy - \tan y + \tan y = c$$
$$x^2 y + xy - \tan y + \tan y = c$$

2#3 $dy/dx = -\frac{(ax + by)}{hx + by}$

$$(hx + by) dy = -(ax + by) dx$$

$$ax + by) dx + (hx + by) dy = 0$$

$$M = ax + by \quad N = hx + by$$

$$\frac{\partial M}{\partial y} = a + b \quad \frac{\partial N}{\partial x} = a + b$$

$$\int M dx + \int (\text{Rem of } N \text{ for form } x) dy = c$$

$$\int (ax + by) dx + \int by dy = c$$

$$\frac{ax^2}{2} + bxy + \frac{by^2}{2} = c$$

$$ax^2 + 2bxy + by^2 = c$$

2#5 $(1 + \ln x) dx + (1 + \frac{x}{y}) dy = 0$

$$M = 1 + \ln x \quad N = (1 + \frac{x}{y})$$

$$\frac{\partial M}{\partial y} = 0 + \frac{1}{xy} \quad \frac{\partial N}{\partial x} = 0 + \frac{1}{y}$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\int M dx + \int (\text{Rem of } N \text{ for form } y) dy = c$$

$$\int (1 + \ln x) dx + \int 1 \cdot dy = c$$

Date: _____

(12)

$$\int dx + \int \frac{dy}{y} = c$$

$$x + \ln y = c \quad \text{or} \quad \int \frac{1}{y} \cdot x \cdot dx + y = c$$

$$x + \ln y - \frac{1}{2} x^2 = c$$

$$x + \ln y - \frac{1}{2} x^2 = c$$

$$x - \frac{1}{2} x^2 + y = c$$

2 Nos

$$(6xy + 2y^2 - 5) dx + (3x^2 + 4xy - 6) dy = 0$$

$$M = 6xy + 2y^2 - 5$$

$$N = 3x^2 + 4xy - 6$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$6x = 6x$$

$$\int M dx + \int (\text{term of } N \text{ for } x) dy = c$$

$$\int (6xy + 2y^2 - 5) dx + \int -6 dy = c$$

$$3x^2y + 2xy^2 - 5x - 6y = c$$

$$3x^2y + 2xy^2 - 5x - 6y = c$$

2#7

$$(y \sec^2 x + \sec x \tan x) dx + (\tan x + 2y) dy = 0$$

$$M = y \sec^2 x + \sec x \tan x, \quad N = \tan x + 2y$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x} = \sec^2 x$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\sec^2 x = \sec^2 x$$

$$\int M dx + \int (\text{term of } N \text{ for } x) dy = c$$

$$\int (y \sec^2 x + \sec x \tan x) dx + \int 2y dy = c$$

$$y \tan x + \sec x + y^2 = c$$

(14)

$$\frac{1}{y} (ny^2 + y) dx - \frac{n}{y^2} dy = 0$$

Now $(n + \frac{1}{y}) dx - \frac{n}{y^2} dy = 0 \quad - (1)$

$$M = n + \frac{1}{y} \quad N = -\frac{n}{y^2}$$

$$M_y = -\frac{1}{y^2} \quad N_x = -\frac{n}{y^2}$$

$$M_y = N_x \quad \therefore \text{Exact Diff. eqn}$$

$\int M dx + \int N dy = c$

$$\int (n + \frac{1}{y}) dx + \int -\frac{n}{y^2} dy = c$$

$$\frac{x^2}{2} + \frac{x}{y} = c$$

Q#3

$$dy + (y - \sin x) dx = 0 \quad - (1)$$

$$M = y - \sin x \quad N = 1$$

$$M_y = 1 \quad N_x = 0$$

$M_y \neq N_x$ \therefore is non exact Diff. eqn

$$M_y - N_x = 1 - 0 = 1 \neq 0$$

$$\frac{1}{N} \int (M_y - N_x) dx = \int \frac{1}{1} dx = x$$

Multiplying both side eqn (1) by $e^{\int 1 dx}$

$$e^x dy + (y - \sin x) e^x dx = 0 \quad - (2)$$

$$M = y - \sin x \quad N = e^x$$

$$M_y = 1 \quad N_x = e^x$$

$$M_y = N_x \quad \therefore \text{is exact eqn}$$

$\int M dx + \int N dy = c$

$$\int (y - \sin x) e^x dx + \int e^x dy = c$$

$$y e^x + \frac{1}{2} e^{2x} = c$$

Q#4

(15)

$$x dy - y dx - (x^2 + y^2) dx = 0 \quad (1)$$

$$x^2 + y^2 + y dx - x dy = 0$$

$$M_y = 2y + 1 \quad N_x = -1$$

$M_y \neq N_x$ Hence (1) is not exact.

$$\frac{N_x - M_y}{N} = \frac{-1 - 2y - 1}{-x}$$

$$\frac{M_y - N_x}{N} = \frac{2y + 1 + 1}{-x}$$

$$x dy - y dx - (x^2 + y^2) dx$$

$$\int \frac{x dy - y dx}{x^2 + y^2} = \int \frac{dx}{x}$$

$$\tan^{-1}\left(\frac{y}{x}\right) = x + C$$

$$\left(\frac{y}{x}\right) = \tan(x + C)$$

$$y = x \tan(x + C) \text{ Ans}$$

$$Q#5 \quad (y - xy^2) dx + (x + x^2y^2) dy = 0$$

$$M = y - xy^2 \quad N = x + x^2y$$

$$M_y = 1 - 2xy \quad N_x = 1 + 2xy^2$$

$$\frac{M_y - N_x}{N} = \frac{1 - 2xy - 1 - 2xy^2}{x + x^2y^2} = \frac{-2xy(x+1)}{x(1+xy^2)}$$

$$y dx - xy^2 dx + x dy + x^2y^2 dy = 0$$

$$x dx + x dy = xy^2 dx + x^2y^2 dy = 0$$

$$x \div \text{by } x = y dx + dy = xy^2 \left(\frac{dx}{x}\right) + x^2y^2 dx$$

by x^2y^2 in both sides

$$\frac{y dx + dy}{x^2y^2} = \frac{x^2y^2}{x^2y^2} \left(\frac{dx}{x} + dy\right) = 0$$

Date: _____

(16)

$$\frac{-1}{xy} - \ln(x+y) = 0$$

2#6

$$(3xy + y^2) dx + (x^2 + 2xy) dy = 0 \quad \text{--- (i)}$$

$$M = 3xy + y^2$$

$$N = x^2 + 2xy$$

$$M_y = 3x + 2y$$

$$N_x = 2x + 2y$$

$$M_y = N_x$$

$$\frac{N_x - M_y}{M} = \frac{2x + 2y - 3x - 2y}{3xy + y^2} = \frac{-x + 2y}{3xy + y^2}$$

$$\frac{M_y - N_x}{N} = \frac{3x + 2y - 2x - 2y}{x^2 + 2xy} = \frac{x + y}{x(x + y)} = \frac{1}{x}$$

$$I.F = e^{\int \frac{1}{x} dx} = e^{\ln x} = x$$

$$3x^2y + xy^2 dx + (x^3 + x^2y) dy = 0$$

$$M = 3x^2y + xy^2 \quad N = x^3 + x^2y$$

$$M_y = N_x$$

Soln: $\int (\text{term of } f(x,y)) dy = c$

$$\int (3x^2y + xy^2) dx + \int (x^3 + x^2y) dy = c$$

$$\frac{3x^2y}{3} + \frac{xy^2}{2} = c$$

$$\frac{x^3y + x^2y^2}{2} = c \quad \text{Ans}$$

(17)

Q#7

$$x \frac{dy}{dx} = e^{2x} + y - 1$$

$$dy = (e^{2x} + y - 1) dx$$

$$(e^{2x} + y - 1) dx - dy = 0 \quad \text{--- (i)}$$

$$M = e^{2x} + y - 1 \quad N = -1$$

$$My \neq Nx$$

$$\frac{My - Nx}{N} = \frac{0 - 1}{e^{2x} + y - 1}$$

$$\frac{My - Nx}{N} = \frac{1 - 0}{1} = -1 = -x^2$$

$$I.F = e^{\int -1 dx} = \boxed{e^{-x}}$$

Multiply by both Side

$$e^{-x} (e^{2x} + y - 1) dx - e^{-x} dy = 0$$

$$(e^x + e^{-x}y - e^{-x}) dx - e^{-x} dy = 0 \quad \text{--- (ii)}$$

$$M = e^x + e^{-x}y - e^{-x} \quad N = -e^{-x}$$

$$My = e^{-x} \quad Nx = -e^{-x}$$

$My = Nx$ is Exact Diff eqn

$$\int M dx + \int \text{term of } N \text{ (w.r.t } x) dy = C$$

$$\int (e^x + e^{-x}y - e^{-x}) dx + N(dy) = C$$

$$e^x + e^{-x}y + e^{-x} = C$$

Date: _____

28 $(y \cos x + 2x e^y) dx + (\sin x + x^2 e^y - 1) dy = 0$

$$M = y \cos x + 2x e^y, N = \sin x + x^2 e^y - 1$$

$$\frac{\partial M}{\partial y} = \cos x + 2x e^y, \frac{\partial N}{\partial x} = \cos x + 2x e^y$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$\int M dx + \int$ (term of N from xy diff) $= c$

$$\int (y \cos x + 2x e^y) dx + \int -1 dy = c$$

$$y \sin x + x^2 e^y - y = c$$

$$y \sin x + x^2 e^y - y = c$$

Exercise 9.5

Q#1 Solving by following IF

i) $(xy^2 + 1) dx - x dy = 0$ (i)

$$M = xy^2 + 1, N = -x$$

$$My = 2xy + 1, N_x = -1$$

$My \neq N_x$ Not Exact

$$\frac{My - N_x}{N} = \frac{2xy + 1 + 1}{-x}$$

$$\frac{N_x - My}{M} = \frac{-1 - 2xy - 1}{xy^2 + 1}$$

$$= \frac{-2(1+xy)}{y(1+1)} = \frac{-2}{y}$$

$$\int \frac{2xy}{y} = 2 \ln y = \ln y^{-2}$$

Multiply both side of eq (i) by IF

(17)

Q#8

$$(4x+3y) dx + 2y dy = -2$$

$$M = 4x+3y$$

$$N = 2y$$

$M_y = 3$
 $N_x = 2$
 Not Exact Diff eq

$$\frac{M_x - N_y}{y} = \frac{4 - 2}{y+3y^2} = \frac{2}{y+3y^2}$$

$$\frac{M_y - N_x}{x} = \frac{3 - 2}{2xy} = \frac{1}{2xy} = \frac{1}{2} \cdot \frac{1}{xy}$$

Multiply both side by I.F

$$M_y = 6x^2 y$$

$M_x \rightarrow N_x$ Exact Diff eq

$$\int M dx + \int (term w.r.t (common) dy) = c$$

$$\int (4x^2 + 3y^2 + 2x^2) dx + N' dy = c$$

$$\frac{4x^3}{3} + 3xy^2 + \frac{x^3}{3} = c$$

Exercise #9.6

Q#1

$$\frac{dy}{dx} + \frac{(2x+1)y}{x} = e^{-2x} \quad \text{LDE is } \checkmark$$

$$I.F = e^{\int \frac{2x+1}{x} dx} = e^{\int \left(\frac{2x}{x} + \frac{1}{x}\right) dx} = e^{2x + \ln x} = e^{2x} \cdot e^{\ln x} = e^{2x} \cdot x$$

Solving by sol (y+I.F) = $\int \theta dx + I.F dx + c$

$$\text{Sol } (y e^{2x}) = \int e^{-2x} \cdot e^{2x} dx + c$$

$$y e^{2x} = \int x dx + c$$

NAME

M. Subair Soudal

Q#2

$$xy' + y^2 = x^2$$

Solving is given by

$$\int \frac{dy}{y^2} + \int \frac{3y^2}{y^3} = \int \frac{6x^2}{x^3} dx + C$$

$$-\frac{1}{y} + \ln|y^3| = 2 \ln|x| + C$$

$$-\frac{1}{y} + 3 \ln|y| = 2 \ln|x| + C$$

$$-\frac{1}{y} = 2 \ln|x| - 3 \ln|y| + C$$

$$-\frac{1}{y} = \ln\left(\frac{x^2}{y^3}\right) + C$$

$$-\frac{1}{y} = \ln\left(\frac{x^2}{y^3}\right) + C$$

$$y^3 = x^2 + C$$

Q#3

$$y \frac{dy}{dx} + y \ln y = \frac{3x^2}{2} \quad (\text{LDE})$$

$$\int y \ln y = \int \frac{3x^2}{2} dx + C$$

$$\int y \ln y = \frac{3x^3}{6} + C$$

$$y \ln y = \frac{3x^3}{6} + C$$

$$y \ln y = \frac{3x^3}{6} + C$$

Q#4

$$y \frac{dy}{dx} + 3y - 3x^2 e^{-3x} = 0 \quad (\text{LDE})$$

$$\int y \ln y = \int \frac{3x^2}{2} dx + C$$

$$\text{Solve by SOL (Y, X, I.F.)} = \int \frac{3x^2}{2} dx + C$$

(10)

$$\text{Sol } (y^2) = \int 3x^2 e^{2x} dx + c$$

$$= x^3 + c$$

$$y = e^{-3} (x^3 + c)$$

Q# 6

(x+1) $\frac{dy}{dx} - xy = e^x$ (LDE)

I.F $e^{\int -x dx} = e^{-x/2}$

I.F = $(x+1)^{-1/2}$

Sol $(y \cdot I.F) = \int I.F \cdot R dx + c$

Sol $(y \cdot \frac{1}{x+1}) = \int \frac{e^x}{(x+1)^{3/2}} dx$

$y = (x+1)^{3/2} = e^{x+c}$

$y = (e^x + c) (x+1)^{3/2}$ Ans

Q# 7

$(x^2+1) \frac{dy}{dx} + 2xy = 4x^2$ (LDE)

$\frac{dy}{dx} + \frac{2x}{x^2+1} y = \frac{4x^2}{x^2+1}$

Sol is given by $\int d(x \cdot I.F) = \int I.F \cdot R dx$

Sol $(x(x^2+1)) = \int \frac{4x^2}{x^2+1} dx + c$

$x(x^2+1) = \frac{4x^2}{x^2+1} + c$

$3x(x^2+1) = 4x^2 + c$ Ans

(20)

Q#8

$$dy/dx = \frac{1}{x} - x$$

$$dx/dy = e^y - x$$

$$dy (dx + x) = e^y dx$$

$$I.F = e^{-x} = e^y$$

Soln is given by $(S u(x, I.F)) = \int dx \cdot I.F \cdot dy$

$$S d(xe^y) = \int e^y dy + c$$

$$xe^y = \int e^y dy + c$$

$$x = e^{-y} / 2 + c e^{-y}$$

$$x = e^{-y} / 2 + c e^{-y} \text{ Ans}$$